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i = 5% 100.000  x  5%  = 5.000 

90.000  x  5%  = 4.500 

80.000  x  5%  = 4.000 

70.000  x  5%  = 3.500 

usw. 

10.000 

Debt account and interest expense for a loan 

Ø = ∑ 
n 
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Debt account and interest expense for a loan 

10.000 

Ø = A 
2 × i 

Ø Debt account ×   Interest 
rate 

Ø Interest expenses 

= 2.500 €/year 
50.000 ×  5% 

A 
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Asset value and imputed interest in equity financing 
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Ø = A 
2 × i 

Ø Asset value ×   Interest 
rate 

Ø Imputed interest rate 
= 2.500 €/year 
50.000 ×  5% 
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Asset value and interest claim residual value 

10.000 

Ø = A 
2 × i 

Ø Asset value ×   Interest 
rate 

Ø Interest claim 
= 2.500 €/year 
50.000 ×  5% 
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